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NEW QUESTION 1
Given the following classes:

public class Emplovee |
public int salary;

public class Manager extends Employee {
public int budget;

public class Director eXtends Manager
public int stockOptions;
}

And given the following main method:

public static void main(String([] args) {
Employee emplovee = new Emplovee ()

Manager manager = new Manager():
Director director = new Director();
//line nl

}

Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50_000;

B. director.salary = 80_000;

C. employee.budget = 200_000;
D. manager.budget = 1_000_000;
E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 2
Given the code fragments:
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Person.java:

public class Person {
String name;
int age;

public Person(String n, int a) |
name = n;
age = a;

}

public String getName () |
return name;

}

public int getAge () {
return age;

}
}

Test.java:

public static void checkAge (List<Person> list, Predicate<Person> predicate)

for (Person p : list) {
if (predicate.test(p)) f{
System.out.println(p.name + " ");

)

}

public static void main(String[] args) |
List<Person> ilist = Arrays.aslList (new Person("Hank", 45),

new Person("Charlie", 40},
new Person("Smith", 38));

/fline nl
}

Which code fragment, when inserted at line n1, enables the code to print Hank?
A

checkage (ilList, ( ) -> p. get Age ( ) > 40);

checkfAge (1List, Person p -> p.getge( ) > 40);

checkAge (ilist, p -> p.getRhRge ( ) > 40);

checkage (iList, (Person p) -> { p.getARge() > 40; 1}):

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 3
Given the code fragment:

LocalDate Time dt= LocalDateTime.of (2014, 7, 31, 1, 1):
dt.plusDays (30):
dt. plusMonths (1):

System.out.print (dt format (DateTimeFormatter. ISO_DATE) );

What is the result?
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A. An exception is thrown at runtim

B. 07-31-2014
C. 2014-07-31
D. 2014-09-30

Answer: A

NEW QUESTION 4
Given this code for a Planet object:

public class Planet |
public String name;
public int moons;

public Planet (String name, int moons)

this.name = name;
this.moons = moons;

And this method:

public static wold main(String[] args) {
Planet[] planets = {

}

}i

new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth", 1),
new Planet ("Mars"”, 2)

System.out.println(planets) ;
System.out.println(planets[2].nane) ;
System.out.println(planets(2].moons) ;

What is the output?

A

planets

Earth
1

[LPlanet=s.Planet; @3154kL9742

Earth
1

[LPlanets=.Planst; @15dkL2742
Planets. Planetladiadayc

1

[LFlanst=. FPlanst; 31542742
Planets. Planet@adiadafc
[LPlansets . Moon; @7/852=922

[LEPlanet=s. Planet; @15dkL9742

Wanus
0

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: C
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NEW QUESTION 5
Given the code fragment:

public static wvoid maini(Stringl]

Short =1 = 200;
Integer =2 = 400;
Long =3 = [(long)
String =4 = {(8tri

Svstem.out. printl
}

What is the result?

A. Sum is 600

B. Compilation fails at line n1.

C. Compilation fails at line n2.

D. A ClassCastException is thrown at
E. A ClassCastException is thrown at

Answer: C

NEW QUESTION 6
Given:

public class App |
int count:

public static woid di

count++;

System.out.println ("Welcome “+"Visit Count: “+count):;
public static void main (String [] args) {
App.displayMsg () :
App.displayMsg ()
}
What is the result?
A. Compilation fails at line n3 and line n4.
B. Compilation fails at line n1 and line n2.
C. Welcome Visit Count:1Welcome Visit Count: 1
D. Welcome Visit Count:1Welcome Visit Count: 2
Answer: B
NEW QUESTION 7
Given:
public class Test {
public static void main(String[] args) {

Test ts =

isAvaillable=

sl + =2;
nu) - (83
ni"Sum 1s

line n1.
line n2.

args) |
o A By o =
s2); 0 W )
+ =4 ;

splayMsg () {

new Test ()
System.out.print (i1sAvailable +

ts.dosStuff () ;

System.out.println(isAvailable)

}
public stati
return !
}
static

}

What is the result?
A. Compilation fails.
B. false true

C. true false

D. true true

E. false false
Answer: C

Explanation:
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Console 15

true false

Completed with exit code: O

NEW QUESTION 8
Which two class definitions fail to compile? (Choose two.)

A

abstract class A3 {
private static int i;
public void doStuff () {}
public A3(){}

final class Al {
public Al() {}

private class A2 {
private static int 1i;
private A2() {}

class A4 |
protected static final int 1
private R4 () {}

I
F_.I
-
LT

final abstract class A5 {
protected static int i;
volid deoStuff () {}
abstract void dolIt();

. Option A
. Option B

. Option D
. Option E

A
B
C. Option C
D
E

Answer: CD

NEW QUESTION 9
Given the code fragment:

public static void main(String[] args) {

}

ArraylList<Integer> points = new ArrayList<>():

points.add(l):
points.add(2):
points.add(3):
points.add(4):
points.add(null):
points.remove(l):
points.remove(null) ;
System.out.println (points):

What is the result?
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A A NuIIPomterExcepnon is thrown at runtim
B.

C.

D.

E.

F. Compllatlon fails.

Answer: B

NEW QUESTION 10

Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.

B. It can run on any platform that has a Java compiler.

C. It can run on any platform.
D. It has “.java” extension.

E. It can run on any platform that has the Java Runtime Environment.

Answer: AE

NEW QUESTION 10
Given:

r

public class Test

public static void main(String[]
boolean a = new Boolean (Boolean.valueOf (args[0]))
boolean b = new Boolean{args[l]]}:
System.out.println(a

bt

And given the commands:
javac Test.java
java Test 1 null

What is the result?

A. 1 null

B. true false

C. false false

D. true true

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 15
Given:

public class MyClass

public static void main(Stringl[]
String s = "Java SE 8

length() ;

System.out.print (len) ;

int len = s.trim().

What is the result?

A. Compilation fails.
B.11
C.8
D.9
E. 10

Answer: B

NEW QUESTION 16
Given the code fragment:

abstract class Toy {
int price;
Jf line nl

h

Which three code fragments are valid at line n1?
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A
public static void insertTov ()
/* code goes here */
}
B
final Toy getToy() {
return new Toy():
}
C
public void printTov();
D
public int calculatePrice()
return price;
}
E
public abstract int computeDisco
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 20
Given the code fragment:

abstract clas=z Planet |

protected vold revolwve ()
i

abztract wvoilid rotate () ;

claz=e Earth extends=s Planet |
vold revolwve ()
'

protected wvoid rotate () |

i
¥

f/line

f/line

filine

f/line

nl

n:

n3

n4g

Which two modifications, made independently, enable the code to compile? (Choose two.)

A. Make the method at line n1 public.
B. Make the method at line n2 public.
C. Make the method at line n3 public.
D. Make the method at line n3 protected.
E. Make the method at line n4 public.

Answer: CD

NEW QUESTION 22

Given this class:

public class CheckingAccount {
public int amount:;
//line nl

}

And given this main method, located in another class:
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public static void main({String[] args} {
CheckingAccount acct = new CheckingRAccount () ;
//1line n2

}

Which three pieces of code, when inserted independently, set the value of amount to 100?

A

At 1ine nl insert:
public CheckingAccount () {
amount = 100;

B
AL 1line n2Z insert:
this.amount = 100;
L
At 1ine nZ insert:
amount = 100;
1]
AL 1ine nl insert:
public CheckinglAccount ()} {
this.amount = 100;
¥
E
AL 1line n2 insert:
acct.amount = 100;
F
At 1ine nl insert:
public Checkingaccount () {
acct.amount = 100;
i
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F
Answer: DE

NEW QUESTION 26
Given:
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class Test {
int al;
public static void doProduct (int a) {
a =a * a;

public static void doString(String s)
s.concat (" " + s):

}
public static void main(String[] args) {
Test i1tem = new Test():
item.al = 11;
String sb = "Hello"™;
Integer 1 = 10;
doProduct (i) ;
doString(sb);
doProduct (i1tem.al);

n
el
L]
'._1.
h

}

What is the result?

A. 10 Hello Hello 11
B. 10 Hello Hello 121
C. 100 Hello 121

D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 27

Given the code fragment:

public static void main(String[] args) {
LocalDate date = LocalDate.of (2012, 1, 30);
date.plusDays (10) ;
System.ocut.println(date);

H

What is the result?

A. 2012-02-10

B. 2012-01-30

C. 2012-02-10 00:00

D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 32
Which two code fragments cause a compilation error? (Choose two.)

A. float flt = 100.00F;

B. float flt = (float) 1_11.00;

C. Float flt = 100.00;

D. double y1 = 203.22;float flt = y1;
E. int y2 = 100;float flt = (float) y2 ;

Answer: AD

NEW QUESTION 34

Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B
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NEW QUESTION 36
Given:

class Caller
private wvoid init ()
System.out.println(™“Initialized”);

private void start ()
init () :
System.ocut.println (“Started”) ;

}

public class TestCall {
public static void main(String[] args) {
Caller c — new Caller{):
c.start ()
c.init () ;

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 40
Which statement best describes encapsulation?

A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object are accessible from other objects.

B. Encapsulation ensures that classes can be designed so that their methods are inheritable.

C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.

D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType X, any subclass of MyType can be passed to that method.

Answer: A

NEW QUESTION 44
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 48
Given the code fragment:

int numsl[] = {1, 2, 32i;

int num=2[] = {1, 2, 3, 4, 51;

nums 2 = nums 1;

for (int = : num=2){
Svstem.out.print (x + ":");

i

What is the result?

A. 1:2:3:4:5:

B. 1:2:3:

C. Compilation fails.

D. An ArrayOutOfBoundsException is thrown at runtime.
Answer: A

NEW QUESTION 53
Given:
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claszs Wehicle |
int
ehicle ()4
thig (100 ; // line nl
i
Wehicle (int =)
thi=s.x = =

}

cla=s=s Car extends vVehicle |
int ¥v;
Car ()
superil;
thisg (207 ; 4 line nZ
i
Car (int vl |
thiz.v = v;
i
public 3tring to Stringl) |
return super.x + ":" + this.vy;
i
h

And given the code fragment;
And given the code fragment:

Wehicle v = new Car () ;
Syvstem.out.println(v);

What is the result?

A.10:20

B. 0:20

C. Compilation fails at line n1

D. Compilation fails at line n2

Answer: D

NEW QUESTION 55
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